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True or False

Statement
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(a+b)’ =a’+b?
W:a+b
m:a—b
Jarb=va b

(o) =2
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a —a2
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SN _ sinqy)
a

sin2a

=sin(2)

sin(2A) = 2sin(A)

sin(A+ B) =sin(A) +sin(B)

cos(2A) = 2cos(A)

cos(A+ B) =cos(A) + cos(B)

log(a+b) =log(a) + log(b)

If a+b=0, theneither a=0 or b=0

If xX(x-2)=24, then either x=24 or x—2=24

a (bc) =(ab) (ac)

If log(a)=b, then a:L
log




31. If sin(a)=b, then az_i
sin

32. If cos(a)=b, then a=—
cos

33. If tan(a)=Db, then a=—
tan

34. Sin(x) =

cse(X)
35. Tan‘l(x):cot(x)
36. COS—l(x)zseC(X)
37. Sin’l(x):sin(x)
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